



ISSN: 0067-2904

On a Subclass of Meromorphic Univalent Functions With Fixed Second Coefficients associated with q-Differed Operator

Zena Hameed Mahmood*, Kassim Abdulhameed Jassim

Department of Mathematics, College of Science, University of Baghdad, Baghdad, Iraq

Received: 17/8/2022

Accepted: 10/11/2022

Published: 30/10/2023

Abstract:

The main object of this article is to study and introduce $\mathcal{U}_q^n(h, \alpha, \beta)$ a subclass of meromorphic univalent functions with fixed second positive defined by q-differed operator. Coefficient bounds, distortion and Growth theorems, and various are the obtained results.

Keywords: Meromorphic functions, distortion and growth and radii of Starlikeness and convexity.

حول الفئة الجزئية من الدوال الميرومورفيه احاديه التكافؤ ذات المعاملات الثانية الثابتة المرتبطة بمؤثر الفروقات من الصنف q

زينه حميد محمود* , قاسم عبدالحميد حاسم

قسم الرياضيات, كلية العلوم, جامعة بغداد, بغداد, العراق

الخلاصة

الهدف الرئيسي من البحث هو تقديم ودراسة فئة $\mathcal{U}_q^n(h, \alpha, \beta)$ لدوال ميرومورفيه احاديه التكافؤ المعرفة بواسطة مؤثر الفروقات من الصنف q في قرص الوحدة, تم تحديد معاملات موجبه ثانياً ثابتة, وتم الحصول على بعض نظريات التشوه والنمو بالإضافة الى خصائص اخرى لهذه الفئة تم الحصول على نتائج مختلفة .

1. Introduction

Let \mathcal{U}_h be the class of univalent meromorphic functions of the form

$$f(z) = \frac{1}{z-h} + \sum_{w=1}^{\infty} a_w z^w, f(h) = \infty, \quad (1.1)$$

and define $D_h = \{z: h < |z| < 1\}$. Also, let $\mathcal{U}_h, \alpha, 0 < \alpha \leq 1$ be the subclass of functions Ω in \mathcal{U}_h that has an expansion; $f(z) = \frac{\alpha}{z-h} + \sum_{w=1}^{\infty} a_w z^w$, where $\alpha = \text{Res}(f, h)$, with $(0 < \alpha \leq 1), z \in D_h$.

The function f given by in (1,1) was taken by Jinxi Ma[1]. The functions $f \in \mathcal{U}_h$ is said to be meromorphically starlike (convex) functions of order β if and only if

*Email: zenakomar42@gmail.com

$$-Re \left\{ \frac{zf'(z)}{f(z)} \right\} > \beta, (0 \leq \beta < 1), z \in D_\beta. \tag{1.2}$$

$$-Re \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \beta, 0 \leq \beta < 1, z \in D_\beta. \tag{1.3}$$

The class of such functions is denoted by $\mathcal{U}_h^*(\beta)$.

$\mathcal{U}_h^1(\beta)$ we notice that the class $\mathcal{U}_h^*(\beta)$ and another way, subclasses of $\mathcal{U}_h^*(0)$ has been studied before by [2-10] and [13,14]

Let $\mathcal{U}_{\beta,\alpha}^+ \subset \mathcal{U}_{\beta,\alpha}$ be a function the functions of the form:

$$f(z) = \frac{\alpha}{z-h} + \sum_{w=1}^{\infty} a_w z^w, (a_w \geq 0). \tag{1.4}$$

It is known that, calculus without the concept of limits is said to be q-calculus which has influenced many scientific fields due to its principal applications. Tang et al. [11] introduced and studied q-derivative for meromorphic functions which is defined as follows:

$$\partial_q f(z) = \frac{f(z) - f(qz)}{(1-q)z} = -\frac{1}{qz^2} + \sum_{w=1}^{\infty} [w]_q a_w l^{w-1}, \tag{1.5}$$

where

$$[f]_q = \frac{1-q^e}{1-q} \tag{1.6}$$

As $q \rightarrow 1^-$, $[f]_q = j$ and $\partial_q f(z) = f'(z)$.

For $f \in \mathcal{U}_{h,\alpha}$, let: $M_q^0 f(z) =$

$$f(z), M_q^1 f(z) = z \partial_q f(z) + \frac{\alpha((q+1)z-h)}{(z-h)(qz-h)}, M_q^2 f(z) = z \partial_q (M_q^1 f(z)) + \frac{\alpha((q+1)z-h)}{(z-h)qz-h}$$

and for $w \in \mathbb{N} = \{1, 2, 3, \dots\}$ we can write the

$$M_q^k f(z) = z \left(M_q^{k-1} f(z) \right) + \frac{\alpha((q+1)z-h)}{(z-h)(qz-h)} \\ = \frac{\alpha}{z-h} + \sum_{w=1}^{\infty} [w]_q^n a_w. \tag{1.7}$$

Remark 1.1 [7-9], [12]

(i) $\lim_{q \rightarrow 1^-} M_{q(h,\alpha)}^n = \lim_{q \rightarrow 1^-} M_q^n(h, \alpha) = M^n(h, \alpha);$

(ii) $\lim_{q \rightarrow 1^-} M_{q(0,1)}^n = M^n.$

Using the operator M_q^n , and for $f \in \mathcal{U}_{\alpha,h}$ we have to

Definition 1.2. Suppose that $f \in M_q^n(h, \alpha, \beta)$, if it satisfies the following:

$$\left| \frac{q \left(\frac{z(M_q^n f(z))''}{(M_q^n f(z))'} + 1 \right) + 1}{q \left(\frac{z(M_q^n f(z))''}{(M_q^n f(z))'} + 1 \right) + 2\beta - 1} \right| < 1 \quad (n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}), \tag{1.8}$$

for some $(0 < q < 1)$, $(n \in \mathbb{N}_0)$, $(0 \leq h < 1)$, $(0 < \alpha \leq 1)$, $(0 \leq \beta < 1, z \in D_h)$.

For $q \rightarrow 1^-$, $\mathcal{U}_q^0(h, 1, \beta)$ is the class of meromorphically starlike functions of order β and

$\mathcal{U}_q^0(h, 1, 0)$ a given the meromorphically star, like functions for all $z \in D_h$.

Remark 1.3.

i. $\lim_{q \rightarrow 1^-} \mathcal{U}_q^n(h, \alpha, \beta) = \mathcal{U}^n(h, \alpha, \beta),$

ii $\mathcal{U}_q^n(0, 1, \beta) = \mathcal{U}_q^n(\beta).$

2. Main results

Theorem 2.1. Let $f(z)$ be defined by (1.4). Then $f \in \mathcal{U}_q^n(z, \alpha, \beta)$ if and only if

$$\sum_{w=1}^{\infty} w[w]_q^n (z-h)^2 |a_w| < \alpha \tag{2.1}$$

($0 < q < 1$), ($n \in \mathbb{N}_0$), ($0 < \alpha \leq 1$), ($0 \leq \beta < 1$, $z \in D_s$).

Proof: Suppose that, (2.1) holds, and let $|z| = 1$, by (1.8) we get

$$\left| qz \left(M_q^n f(l) \right)'' + q \left(M_q^n f(l) \right)' + \left(M_q^n f(l) \right)' \right| - \left| ql \left(M_q^n f(z) \right)'' + q \left(M_q^n f(z) \right)' + (2\beta - 1) \left(M_q^n f(z) \right)' \right| \leq 0, \text{ by using (2.19)}$$

Therefore

$$\begin{aligned} & \left| qz \left(M_q^n f(z) \right)'' + q \left(M_q^n f(z) \right)' + \left(M_q^n f(z) \right)' \right| \\ & - \left| qz \left(M_q^n f(z) \right)'' + q \left(M_q^n f(z) \right)' + (2\beta - 1) \left(M_q^n f(z) \right)' \right| \\ = & \left| q \alpha (z-h)^{-2} (2z((z-h)^{-1} - 1) \right. \\ & \left. + q \sum_{w=1}^{\infty} w^2 [w]_q^2 a_w z^{w-1} - \alpha (z-h)^{-2} + \sum_{w=1}^{\infty} w [w]_q^2 a_w z^{w-1} \right| \\ & - \left| q \alpha (z-h)^{-2} (2z((z-h)^{-1} - 1) \right. \\ & \left. + q \sum_{w=1}^{\infty} w^2 [w]_q^2 a_w z^{w-1} - 2 \right. \\ & \left. \alpha \beta (z-h)^{-2} + 2\beta \sum_{w=1}^{\infty} w [w]_q^2 a_w z^{w-1} + \right. \\ & \left. \alpha (z-h)^{-2} \sum_{w=1}^{\infty} w [w]_q^2 a_w z^{w-1} \right| \\ = & \left| \alpha (z-h)^{-2} (q(2z(z-h)^{-1} - 1) - 1) + \sum_{w=1}^{\infty} w [w]_q^2 a_w z^{w-1} (qw + 1) \right| \\ & - \left| q \alpha (z-h)^{-2} (2z((z-h)^{-1} - 1) - 2\beta + 1) + \sum_{w=1}^{\infty} w [w]_q^2 a_w z^{w-1} (qw + 2\beta - 1) \right| \\ \leq & \sum_{w=1}^{\infty} w [w]_q^n |a_w| [2 - 2\beta] - \frac{\alpha(2-2\beta)}{(1-h)^2} \leq 0. \end{aligned}$$

Thus we have

$$\sum_{w=1}^{\infty} w [w]_q^n (1-h)^2 |a_w| - \alpha \leq 0.$$

And hence

$$\sum_{w=1}^{\infty} w [w]_q^n (1-h)^2 |a_w| \leq \alpha.$$

Therefore, by the Maximum Modulus Theorem, we have $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta)$.

Now let $(z) \in \mathcal{U}_q^n(h, \alpha, \beta)$, then

$$\left| \frac{q \left(\left(\frac{z(M_q^n f(z))''}{(M_q^n f(z))'} \right) + 1 \right) + 1}{q \left(\left(\frac{z(M_q^n f(z))''}{(M_q^n f(z))'} \right) + 1 \right) + 2\beta - 1} \right| < 1.$$

Since $\text{Re}(z) \leq |z|$ for all, we get

$$\text{Re} \left\{ \frac{\alpha(z-h)^{-2}(q(2z(z-h)^{-1}-1)-1) + \sum_{w=1}^{\infty} w[w]_q^n a_w z^{w-1}(qw+1)}{\alpha(z-h)^{-2}(q(2z(z-h)^{-1}-1)-2\beta+1) + \sum_{w=1}^{\infty} w[w]_q^n a_w z^{w-1}(qw+2\beta-1)} \right\} < 1.$$

Pick out the value of z on real axis so that $q \left(\frac{f(M_q^n f(z))''}{(M_q^n f(z))'} \right)$ is real. By letting $z \rightarrow 1^-$ through real values, we have equation(2.1).

Corollary 2.1. If $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta)$, then we have a

$$a_w \leq \frac{\alpha}{w[w]_q^n (1-h)^2} \tag{2.2}$$

($0 < q < 1$), ($n \in \mathbb{N}_0$), ($0 < \alpha \leq 1$), ($0 \leq h < 1$).

Equality is attained for the function f ;

$$f(z) = \frac{\alpha}{z-h} + \frac{\alpha}{w[w]_q^n (1-h)^2} z^w. \tag{2.3}$$

$$f(z) = \frac{\alpha}{z-h} + \frac{\alpha}{w[w]_q^n (1-h)^2} z + \sum_{w=2}^{\infty} a_w z^w. \tag{2.4}$$

Theorem 2.2. Let $f(z)$ be defined by equation(2.4). Then $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta)$ if and only if

$$\sum_{w=1}^{\infty} (1-h)^2 w[w]_q^n |a_w| \leq \alpha. \tag{2.5}$$

Proof. Putting

$$a_1 = \frac{\alpha}{(1-h)^2}. \tag{2.6}$$

In equation(2.1), we have

$$\frac{1}{(1-h)^2} + \sum_{w=1}^{\infty} \frac{(1-h)^2 w[w]_q^n}{\alpha} a_w \leq 1. \tag{2.7}$$

which implies equation(2.5). The equality occurs for

$$f(z) = \frac{\alpha}{z-h} + \frac{\alpha}{(1-h)^2} z + \frac{\alpha}{w[w]_q^n (1-h)^2} z^w, \tag{2.8}$$

for $w \geq 2$.

Corollary 2.2. If $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta)$, then

$$a_w \leq \frac{\alpha}{w[w]_q^n (1-h)^2}, \quad (w \geq 2). \tag{2.9}$$

The equality occurs for $f(z)$ given by (2.8).

Theorem 2.3. If $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta)$, then

$$\sum_{w=2}^{\infty} a_w \leq \frac{\alpha}{2 [2]_q^n (1-h)^2}, \tag{2.10}$$

Proof: Let $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta)$. Then, in opinion of (2.5), we have

$$w[w]_q^n \sum_{w=2}^{\infty} (1-h)^2 a_w \leq \alpha. \tag{2.11}$$

$$\sum_{w=2}^{\infty} w [w]_q^n a_w - \alpha + 2h \sum_{w=2}^{\infty} w [w]_q^n a_w + h^2 \sum_{w=2}^{\infty} w [w]_q^n a_w \leq \alpha \tag{2.12}$$

$$\sum_{w=2}^{\infty} w [w]_q^n a_w \leq \alpha + \frac{2h \alpha}{(1-h)^2} - \frac{h \alpha}{(1-h)^2}$$

$$\sum_{w=2}^{\infty} w [w]_q^n a_w \leq \frac{\alpha ((1-h)^2 + 2h - h^2)}{(1-h)^2}$$

$$\sum_{w=2}^{\infty} a_w \leq \frac{\alpha}{2 [2]_q^n (1-h)^2}. \tag{2.13}$$

Simplifying the right hand side of equation(2.13), we have equation (2.10).

Theorem .2.4. Let $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta,)$ for $0 < |z| = r < 1$. Then

$$\frac{\alpha}{|z-h|} - \frac{\alpha}{(1-h)^2} |z| - \frac{\alpha}{2[2]_q^n (1-h)^2} |z|^2 \leq |f(z)| \leq \frac{\alpha}{|z-h|} + \frac{\alpha}{(1-h)^2} |z| + \frac{\alpha}{2[2]_q^n (1-h)^2} |z|^2, \tag{2.14}$$

with equality for

$$f(z) = \frac{\alpha}{|z-h|} + \frac{\alpha}{(1-h)^2} |z| + \frac{\alpha}{2[2]_q^n (1-h)^2} |z|^2,$$

Where $\alpha = \text{Res}(z, h), .$

Proof: For $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta,)$.Then

$$|f(z)| = \left| \frac{\alpha}{z-h} + \frac{\alpha}{(1-h)^2} z + \sum_{w=2}^{\infty} a_w z^w \right| \leq \frac{\alpha}{|z-h|} + \frac{\alpha}{(1-h)^2} |z| + |z|^2 \sum_{w=2}^{\infty} a_w,$$

and

$$|f(z)| = \left| \frac{\alpha}{z-h} + \frac{\alpha}{(1-h)^2} z + \sum_{w=2}^{\infty} a_w z^w \right| \geq \frac{\alpha}{|z-h|} - \frac{\alpha}{(1-h)^2} |z| - |z|^2 \sum_{w=2}^{\infty} a_w,$$

which that in view of equation(2.10), we have equation(2.14).

Theorem 2.5. Let $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta,)$ for $0 < |z| = r < 1$, then

$$\frac{\alpha}{|(z-h)^2|} - \frac{\alpha}{(1-h)^2} - \frac{\alpha}{[2]_q^n (1-h)^2} |z| \leq |f'(z)| \leq \frac{\alpha}{|(z-h)^2|} + \frac{\alpha}{(1-h)^2} + \frac{\alpha}{[2]_q^n (1-h)^2} |z|,$$

with equality for

$$|f'(z)| = \frac{\alpha}{|(z-h)^2|} + \frac{\alpha}{(1-h)^2} + \frac{\alpha}{[2]_q^n (1-h)^2} |z|.$$

Proof: For $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta,)$.Then

$$|f'(z)| = \left| \frac{-\alpha}{(z-h)^2} + \frac{\alpha}{(1-h)^2} + 2 \sum_{w=2}^{\infty} a_w z \right| \leq \frac{\alpha}{|(z-h)^2|} + \frac{\alpha}{(1-h)^2} + 2|z| \sum_{w=2}^{\infty} a_w,$$

$$|f'(z)| \leq \frac{\alpha}{|(z-h)^2|} + \frac{\alpha}{(1-h)^2} + \frac{\alpha}{[2]_q^n (1-h)^2} |z|$$

and

$$|f'(z)| = \left| \frac{-\alpha}{(z-h)^2} + \frac{\alpha}{(1-h)^2} + 2 \sum_{w=2}^{\infty} a_w z \right| \geq \frac{\alpha}{|(z-h)^2|} - \frac{\alpha}{(1-h)^2} - 2|z| \sum_{w=2}^{\infty} a_w,$$

$$|f'(z)| \geq \frac{\alpha}{|(z-h)^2|} - \frac{\alpha}{(1-h)^2} - \frac{\alpha}{[2]_q^n (1-h)^2} |z|.$$

Hence we obtain our result.

Theorem 2.6 Let $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta, \nu)$. Then $f(z)$ is starlikeness in $|z - h| < |z| < r_1$, of order ν ($0 \leq \nu < 1$) where r_1 is largest value for which

$$\frac{\alpha(3-\nu)}{(1-h)^2} r^2 + \frac{\alpha(w+2-\nu)}{w[w]_q^n (1-h)^2} r^{w+1} \leq \alpha(1-\nu). \tag{2.15}$$

For $k \geq 2$. Then result is sharp for the function $f(z)$ is given by equation (2.8).

Proof: It is sufficient to show that

$$\left| \frac{(z-h)f'(z)}{f(z)} + 1 \right| \leq (1-\nu), \tag{2.16}$$

then

$$\begin{aligned} \left| \frac{(z-h)f'(z)+f(z)}{f(z)} \right| &= \left| \frac{\frac{\alpha(z-h)}{(z-h)^2} + \frac{\alpha}{(1-h)^2} z + \sum_{w=2}^{\infty} w a_w z^w + \sum_{w=2}^{\infty} a_w z^w}{\frac{\alpha}{(z-h)} + \frac{\alpha}{(1-h)^2} z + \sum_{w=2}^{\infty} a_w z^w} \right| \\ &\leq \frac{\frac{\alpha|z-h|}{(z-h)^2} + \frac{\alpha}{(1-h)^2} |z| + \sum_{w=2}^{\infty} (w+1) a_w |z|^w}{\frac{\alpha}{|z-h|} - \frac{\alpha}{(1-h)^2} |z| - \sum_{w=2}^{\infty} a_w |z|^w} \\ &= \frac{\frac{\alpha}{(z-h)^2} |z|^2 + \sum_{w=2}^{\infty} (w+1) a_w |z|^{w+1}}{\alpha - \frac{\alpha}{(1-h)^2} |z|^2 - \sum_{w=2}^{\infty} a_w |z|^{w+1}} \leq (1-\nu) \end{aligned} \tag{2.17}$$

$$\sum_{w=2}^{\infty} (w+1) a_w |z|^{w+1} + (1-\nu) \sum_{w=2}^{\infty} a_w |z|^{w+1} \leq \alpha(1-\nu) - \frac{\alpha(3-\nu)}{(z-h)^2} |z|^2$$

Hence for $|z - h| < |z| < r$, (2.17) holds true if

$$\frac{\alpha(3-\nu)}{(z-h)^2} r^2 + \sum_{w=2}^{\infty} (w+2-\nu) a_w r^{w+1} \leq \alpha(1-\nu).$$

It follows that function (2.5), we may take

$$a_w \leq \frac{\alpha}{w[w]_q^n (1-h)^2} \quad (w \geq 2)$$

For every fixed r , choose the positive integer $w_0 = w_0(r)$, which $\frac{\alpha(w_0+2-\nu)}{w_0[w_0]_q^n (1-h)^2} r^{w_0+1}$, is maximal.

Then is flowing

$$\sum_{w=2}^{\infty} (w+2-\nu) a_w r^{w+1} \leq \frac{\alpha(w_0+2-\nu)}{w_0[w_0]_q^n (1-h)^2} r^{w_0+1}.$$

Then f is starlike of order ν in $|z - h| < |z| < r_1$, provided that

$$\frac{\alpha(3-\nu)}{(1-h)^2} r_1^2 + \frac{\alpha(w+2-\nu)}{w[w]_q^n (1-h)^2} r_1^{w+1} \leq \alpha(1-\nu).$$

We find the value $r_1 = r_0(n, \alpha, \nu, w)$ and the corresponding integer $w_0(r_0)$ so that

$$\frac{\alpha(3-\nu)}{(1-h)^2} r_0^2 + \frac{\alpha(w+2-\nu)}{w[w]_q^n (1-h)^2} r_0^{w+1} = \alpha(1-\nu).$$

Then this value is the radius of starlikeness of order ν for function f belong to class $\mathcal{U}_q^n(h, \alpha, \beta, \nu)$

Theorem 2.7. Let $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta, \nu)$. Then $f(z)$ is starlikeness in $|z - h| < |z| < r_2$, of order ν , ($0 \leq \nu < 1$). where r_2 is largest value for which

$$\frac{\alpha(3-\nu)}{(1-h)^2} r_2^2 + \frac{\alpha(w+2-\nu)}{[w]_q^n (1-h)^2} r_2^{w+1} \leq \alpha(1-\nu) \tag{2.18}$$

Proof: It is sufficient to show that

$$\left| \frac{(z-h) f''(z)}{f'(z)} + 2 \right| \leq 1 - v, \quad (|z| < r_2), \tag{2.19}$$

then

$$\begin{aligned} & \left| \frac{(z-h) f''(z) + 2 f'(z)}{f'(z)} \right| \leq 1 - v \\ & \left| \frac{\sum_{w=2}^{\infty} w(w-1)a_w z^{w-1} + \frac{2\alpha}{(z-h)^2} + 2 \sum_{w=2}^{\infty} w a_w z^{w-1}}{\frac{-\alpha}{(z-h)^2} + \frac{\alpha}{(1-h)^2} + \sum_{w=2}^{\infty} w a_w z^{w-1}} \right| \\ & \leq \frac{\sum_{w=2}^{\infty} w(w+1)a_w |z|^{w-1} + \frac{2\alpha}{(1-h)^2}}{\frac{\alpha}{|z-h|^2} - \frac{\alpha}{(1-h)^2} - \sum_{w=2}^{\infty} w a_w |z|^{w-1}} \\ & \leq \frac{\frac{2\alpha}{(1-h)^2} |z|^2 + \sum_{w=2}^{\infty} w(w+1)a_w |z|^{w+1}}{\alpha - \frac{\alpha}{(1-h)^2} |z|^2 - \sum_{w=2}^{\infty} w a_w |z|^{w+1}} \leq (1-v) \\ & \sum_{w=2}^{\infty} w(w+1)a_w |z|^{w+1} + (1-v) \sum_{w=2}^{\infty} w a_w |z|^{w+1} \leq \alpha (1-v) - \frac{\alpha(3-v)}{(z-h)^2} |z|^2. \end{aligned}$$

Hence for $|z-h| < |z| < r$, (2.17) hold true if

$$\frac{\alpha(3-v)}{(z-h)^2} r^2 + \sum_{w=2}^{\infty} w(w+2-v)a_w r^{w+1} \leq \alpha(1-v).$$

And it follows that function (2.5), we may take

$$a_w \leq \frac{\alpha}{w [w]_q^n (1-h)^2} \quad (w \geq 2).$$

Then f is starlike of order v in $|z-h| < |z| < r_2$, provided that

$$\frac{\alpha(3-v)}{(1-h)^2} r_2^2 + \frac{\alpha(w+2-v)}{[w]_q^n (1-h)^2} r_2^{w+1} \leq \alpha(1-v).$$

Theorem 2.8. Let class $\mathcal{U}_q^n(h, \alpha, \beta)$. It is closed under convex linear combination.

Proof: Let $f(z)$ be defined by (2.4). Define the $h(z)$ by

$$h(z) = \frac{\alpha}{z-h} + \frac{\alpha}{w [w]_q^n (1-h)^2} z + \sum_{w=2}^{\infty} b_w z^w, \quad b_w \geq 2 \tag{2.20}$$

suppose that $f(z)$ and $h(z)$ are in class $\mathcal{U}_q^n(h, \alpha, \beta)$, we have to prove

$$G(z) = (1-\xi)h(z) + \xi f(z) \quad (0 \leq \xi \leq 1). \tag{2.21}$$

So be in class. Since

$$G(z) = \frac{\alpha}{z-h} + \frac{\alpha}{w [w]_q^n (1-h)^2} z + \sum_{w=n+1}^{\infty} [\xi a_w + (1-\xi)b_w] z^w \tag{2.22}$$

then

$$\sum_{w=2}^{\infty} (1-h)^2 w [w]_q^n [\xi a_w + (1-\xi)b_w] \leq \alpha \tag{2.23}$$

Hence $G(z) \in \mathcal{U}_q^n(h, \alpha, \beta)$.

Theorem 2.9. Let

$$f_1(z) = \frac{\alpha}{z-h} + \frac{\alpha}{(1-h)^2} z, \tag{2.24}$$

and

$$f_w(z) = \frac{\alpha}{z-h} + \frac{\alpha}{(1-h)^2} z + \frac{\alpha}{w [w]_q^n (1-h)^2} z^w \tag{2.25}$$

for $w \geq 2$. The $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta)$ if and only if

$$f(z) = \sum_{w=2}^{\infty} \eta_w f_w(z), \tag{2.26}$$

$$\text{where } \eta_w \geq 0 \ (w \geq 2) \text{ and } \sum_{w=2}^{\infty} \eta_w \leq 1. \quad (2.27)$$

proof: Let $f(z)$ be in the form (2.26). Then from (2.24). (2.25) and (2.27) we have

$$f(z) = \frac{\alpha}{z-h} + \frac{\alpha}{(1-h)^2} z + \sum_{w=2}^{\infty} \frac{\alpha \eta_w}{w[w]_q^n (1-h)^2} z^w. \quad (2.28)$$

Since

$$\sum_{w=2}^{\infty} \frac{\alpha \eta_w}{w[w]_q^n (1-h)^2} \cdot \frac{w[w]_q^n (1-h)^2}{\alpha} = \sum_{w=2}^{\infty} \eta_w = 1 - \eta_1 \leq 1, \quad (2.29)$$

then, from Theorem 2.2. $f(z) \in \mathcal{U}_q^n(\delta, \alpha, \beta,)$. Conversely, let $f(z) \in \mathcal{U}_q^n(h, \alpha, \beta,)$ and satisfies (2.28) for $(w \geq 2)$, then

$$\eta_w = \frac{w[w]_q^n (1-h)^2}{\alpha} a_w \leq 1, \quad (2.30)$$

and

$$\eta_1 = 1 - \sum_{w=2}^{\infty} \eta_w. \quad (2.31)$$

By using Theorem 2.9. the proof is completed.

References

- [1] Jinxi Ma, "Extreme points and minimal outer area problem for meromorphic Univalent functions", *J.Math.Anal.*, vol. 220, no. 2, pp. 769-773, 1998.
- [2] J. Clunie, "On meromorphic schlicht functions", *J. Lond. Math.Soc.*, vol. 34, pp. 215-216, 1959.
- [3] M.K Aouf, "On a certain class of meromorphic univalent Functions with positive coefficients". *Rend.Mat.Appl.*, vol. 7, no. 11, pp. 209-219, 1991..
- [4] M. K. Aouf and H. E. Darwish, "Certain meromorphically starlike Functions with positive and fixed second coefficients", *Tr.J.of Mathematics.*, vol. 21, pp. 311-316, 1997.
- [5] R. M.Goel and N.S.Sohi, "On a class of meromorphic functions", *Glas.Mat.*, vol.3. Ser., 17, no. 37, pp. 19-28, 1982.
- [6] J. Miller, "Convex meromorphic mappings and related functions", *Proc. Am. Math. Soc.*, vol. 25, pp. 220-228, 1970.
- [7] H. M. Srivastava and S. Owa. "Current Topics in Analytic Functions Theory". *World Scientific, Singapore*. 1992.
- [8] B.A. Uralgaddi and M. D.Ganigi, "A certain class of meromorphically starlike Functions with positive coefficients", *Pure Appl.Math. Sci.*, vol. 26, pp.75-81, 1987.
- [9] B. A. Uralegaddi and C. Somanatha, "Certain differential operators for Meromorphic functions", *Houston .J. Math*, vol. 17, pp. 279-284, 1991.
- [10] B. A. Uralegaddi and C. Somanatha, "New criteria for meromorphic starlike Univalent functions", *Bull. Austral. Math. Soc.*, vol. 43, pp. 137-140, 1991.
- [11] H. Tang. H. Zayed. A.O.Mostafa and M. K. Aouf, "Fekete-Szegő problems For certain classes of meromorphic functions using q-derivative operator", *Journal of Mathematics*, vol. 2022, 2022.
- [12] B.A. Frasin and M.Darus, "On certain meromorphic functions with positive Coefficients", *Southeast Asian Bull. Math.*, vol. 28, pp. 615-623, 2004.
- [13] Jassim, K. A. H., & Hussein, A. A., "Some Geometric Properties of Generalized Class of function associated with Higher Ruscheweyh Derivatives". *Iraq Journal of Science*, vol.60. no, 9, pp. 2036-2042, 2019.
- [14] Reem O. Rasheed & Kassim A. Jassim, "New subclasses of meromorphic multivalent functions associated with a differential operator", *Journal of Interdisciplinary Mathematics*, vol. 22, no, 8, pp. 1443-1449, 2019.